

TENDER NO. 6665

FOR: Micro-Surfacing Treatment (Eastern Region - East)

TABULATION OF TENDERS

ROAD NO.: BRIDGE SITE NO.:

LOCATION: Falcon Lake - Pinawa - Steinbach and Beausejour - Lac

Du Bonnet Area LENGTH: 231

SUMMARY OF PRICES

CONTRACTOR	SECTION 1	SECTION 2	SECTION 3	SECTION 4	SECTION 5	SECTION 6	SECTION 7	SECTION 8	BID TOTAL
West-Can Seal Coating Inc.	310,585.00	762,345.00	1,095,871.25	592,935.00	465,877.50	1,376,456.25	225,880.00	93,175.50	4,923,125.50
MSO Construction Limited	349,800.00	831,600.00	1,185,150.00	655,200.00	521,400.00	1,482,000.00	257,600.00	107,415.00	5,390,165.00
Nelson River Construciton Inc.	349,800.00	858,600.00	1,230,450.00	667,800.00	524,700.00	1,550,250.00	254,400.00	104,940.00	5,540,940.00

TABULATION OF TENDERS



TENDER NO. 6665

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake - Pinawa - Steinbach and Beausejour - Lac Du Bonnet Area

LENGTH: 231

SECTION I: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.: 1

REGION 1

LOCATION: Vicinity of Falcon Lake WORK ORDER NO.: P01014

LENGTH: PROJECT NO.: 7060

NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER **MSO Construction Limited** West-Can Seal Coating Inc. **Nelson River Construciton Inc. ESTIMATED** QUANTITIES **DESCRIPTION OF WORK** UNIT UNIT PRICE **AMOUNT** UNIT PRICE AMOUNT UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** Micro-Surfacing (Oil Supplied by Cont.) 220 1,411.75 310,585.00 1,590.00 349,800.00 1,590.00 349,800.00 310,585.00 349,800.00 349,800.00 0.00 **BID TOTAL** 4,923,125.50 5,390,165.00 5,540,940.00 0.00

TABULATION OF TENDERS



TENDER NO. 6665

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake - Pinawa - Steinbach and Beausejour - Lac Du Bonnet Area

LENGTH: 231

SECTION II: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.: 11

REGION 1

LOCATION: Vicinity of Pinawa WORK ORDER NO.: P01021

LENGTH: PROJECT NO.: 7063

NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER West-Can Seal Coating Inc. **MSO Construction Limited Nelson River Construciton Inc. ESTIMATED** QUANTITIES **DESCRIPTION OF WORK** UNIT UNIT PRICE **AMOUNT** UNIT PRICE AMOUNT UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** Micro-Surfacing (Oil Supplied by Cont.) 540 1,411.75 762,345.00 1,540.00 831,600.00 1,590.00 858,600.00 762,345.00 831,600.00 858,600.00 0.00 **BID TOTAL** 4,923,125.50 5,390,165.00 5,540,940.00 0.00

TABULATION OF TENDERS



TENDER NO. 6665

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake - Pinawa - Steinbach and Beausejour - Lac Du Bonnet Area

LENGTH: 231

SECTION III: Micro-Surfacing Treatment (Eastern Region - East) ROAD NO.: 12 REGION 1

LOCATION: Vicinity of Steinbach WORK ORDER NO.: H01884

DESCRIPTION OF WORK			NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER MSO Construction Limited		NAME OF BIDDER Nelson River Construciton Inc.		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.) Extra Work	755 1	t \$	1,411.75 30,000.00	1,065,871.25 30,000.00	1,530.00 30,000.00	1,155,150.00 30,000.00	1,590.00 30,000.00	1,200,450.00 30,000.00		
				1,095,871.25		1,185,150.00		1,230,450.00		0.00
	BID TOTAL			4,923,125.50		5,390,165.00		5,540,940.00		0.00

TABULATION OF TENDERS



TENDER NO. 6665

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake - Pinawa - Steinbach and Beausejour - Lac Du Bonnet Area

LENGTH: 231

SECTION IV: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.: 44

REGION 1

LOCATION: Vicinity of Beausejour WORK ORDER NO.: P01023

LENGTH: PROJECT NO.: 7066

NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER **MSO Construction Limited** West-Can Seal Coating Inc. **Nelson River Construciton Inc. ESTIMATED** QUANTITIES **DESCRIPTION OF WORK** UNIT UNIT PRICE **AMOUNT** UNIT PRICE AMOUNT UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** Micro-Surfacing (Oil Supplied by Cont.) 420 1,411.75 592,935.00 1,560.00 655,200.00 1,590.00 667,800.00 592,935.00 655,200.00 667,800.00 0.00 **BID TOTAL** 4,923,125.50 5,390,165.00 5,540,940.00 0.00

TABULATION OF TENDERS



TENDER NO. 6665

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake - Pinawa - Steinbach and Beausejour - Lac Du Bonnet Area

LENGTH: 231

SECTION V: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.: 313

REGION 1

LOCATION: Vicinity of Lac du Bonnet WORK ORDER NO.: J01696

LENGTH: PROJECT NO.: 6647

NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER **MSO Construction Limited** West-Can Seal Coating Inc. **Nelson River Construciton Inc. ESTIMATED** QUANTITIES **DESCRIPTION OF WORK** UNIT UNIT PRICE **AMOUNT** UNIT PRICE AMOUNT UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** Micro-Surfacing (Oil Supplied by Cont.) 330 1,411.75 465,877.50 1,580.00 521,400.00 1,590.00 524,700.00 465,877.50 521,400.00 524,700.00 0.00 **BID TOTAL** 4,923,125.50 5,390,165.00 5,540,940.00 0.00

TABULATION OF TENDERS



TENDER NO. 6665

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake - Pinawa - Steinbach and Beausejour - Lac Du Bonnet Area

LENGTH: 231

SECTION VI: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.: 317

REGION 1

LOCATION: Vicinity of Lac du Bonnet WORK ORDER NO.: J01736

DESCRIPTION OF WORK			NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER MSO Construction Limited		NAME OF BIDDER Nelson River Construciton Inc.		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	975	t	1,411.75	1,376,456.25	1,520.00	1,482,000.00	1,590.00	1,550,250.00		
				1,376,456.25		1,482,000.00		1,550,250.00		0.00
	BID TOTAL			4.923.125.50		5.390.165.00		5.540.940.00		0.00

TABULATION OF TENDERS



TENDER NO. 6665

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake - Pinawa - Steinbach and Beausejour - Lac Du Bonnet Area

LENGTH: 231

SECTION VII: Micro-Surfacing Treatment (Eastern Region - East) ROAD NO.: 502 REGION 1

LOCATION: Vicinity of Lac du Bonnet WORK ORDER NO.: J01699

DESCRIPTION OF WORK	Γ		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER MSO Construction Limited		NAME OF BIDDER Nelson River Construciton Inc.		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	160	t	1,411.75	225,880.00	1,610.00	257,600.00	1,590.00	254,400.00		
				225,880.00		257,600.00		254,400.00		0.00
	BID TOTAL			4,923,125.50		5,390,165.00		5,540,940.00		0.00

TABULATION OF TENDERS



TENDER NO. 6665

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake - Pinawa - Steinbach and Beausejour - Lac Du Bonnet Area

LENGTH: 231

SECTION VIII: Micro-Surfacing Treatment (Eastern Region - East) ROAD NO.: 601 REGION 1

LOCATION: Vicinity of Beausejour WORK ORDER NO.: J01741

DESCRIPTION OF WORK	Γ		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER MSO Construction Limited		NAME OF BIDDER Nelson River Construciton Inc.		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	66	t	1,411.75	93,175.50	1,627.50	107,415.00	1,590.00	104,940.00		
				93,175.50		107,415.00		104,940.00		0.00
	BID TOTAL			4,923,125.50		5,390,165.00		5,540,940.00		0.00